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Alternative coil placement BMR study

<Updates on the no-coil case / some questions on the mass shift>

March 315 2021: Youngmin Yook: yook@ihep.ac.cn
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Updates on the no-coil case
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The mass shift
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PROC: gg,

#layer 40,
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WC: 90mm,

Total Gap varied
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my = 125.4 GeV/c?
In general, +bias, worsening with more of the gap

Suggested by Jiechen

- Change the HCAL calibration according to
- Single K @ baseline
-  H - gg @ baseline



Next goal: Understanding the Mass distribution and peak shift
* First try working with Jiechen’s suggestion for now.
* Questions

* How was the BMR for baseline calculated? Did we have clear Gaussians? Any code reference?
* What is the internal mechanism of the HCAL calibration?

* I have heard MOKKA is outdated. Preferably move on to what is more related to the recent SW
development? If so, which?

* If you have an answer or ‘any’ input that could guide me to the answers, please don’t
hesitate to tell me!



